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WIER EHE= B HRRE ) IE(ZO)

% ] s - BRHE s ¥ 8 i & # W E
EEIEE 22,190, 032
MEIEE 4,319,950 + 6,685,817 11,005, 767
HEREE GDH 2,291,782 + 1,766,326 + 261,842 4,319,950
#BREE (HLE) 2,291,782
HBEREE (F) 22,190,032 x 7.96% ((6.30% x1.00 +1.50%) x 1.02) 1,766, 326
RSBRERER 22,190,032 x 1.18% 261, 842
BisEER 26,509,982 x 25.22% ((23.05% +1.44%) x 1.03) 6, 685, 817
TERE 22,190,032 + 11,005, 767 33,195, 799
—REEEE 33,195,799 x 19.48% (19.48% x 1.00) — 5,618 6,460, 923
ZHRIE 33,195,799 x 0.04% 13,278
T4 33,195,799 + 6,460,923 + 13,278 39, 670, 000
HEBREHELE 39,670,000 x 10.00% 3,967, 000
FEIFE 39,670,000 + 3,967,000 43,637,000
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& b I - KT By ¥ = =i & % W OE
EEIZE 22,190, 032
BriRiZ - BHRDIR - BiRiE 22,190, 032
HE - BET 22,190, 032
WHWEIOVHT 13, 035, 840
wHWEI Oy Y HEE 13, 035, 840
1 EfRJoy ok 40.00 229, 260 9,170, 400
@
2 JL—rHE 1.00 3, 865, 440 3, 865, 440
=®
HBE Oy T 9,154,192
REITDy Y HEE 9,154,192
3 I—T 4 UTEHK 150. 00 530 79, 500
m2
4 BB IHE 525.00 1,987 1,043,175
m2
5 REkH - AR/A— 48.00 19, 200 921, 600
X
6 RmEkE - M/ \—#L 1,411.00 75 105, 825
kg
7 SHEEPAE AR S 629.00 4,308 2,709, 732
m2
8 Oy ) — MTER 343.00 12,520 4,294, 360
m3
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HERHZE EL) 2,291,782
HBERRE 2,291,782
BT 2,154,382
EERM R R EE R 2,154,382
9 S EHEIIER 1.00 2,154, 382 2,154,382

=
B ] 0
TEXEK 0
10 ®&R - KK 1.00 0 0

=
RiTEEE 137, 400
BEIEREIRERE 37,400
1 BEIEEIEERE 1.00 37,400 37, 400

=
FEIFESHREPRNAE 100, 000
12 MEIEESAREYRAAE 1.00 100, 000 100, 000
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&% BRJov o8k 10fEL Y
4 b R - KT & By 2 B {f %5 5 &
LT4—=2H9Rbavy)—+ 18—8—40, W/C=65%LITF
m 3 107. 27 8, 500. 00 911, 795
£ S B 4 ERJovs 20tLl B30tk
m2 331.30 1, 040. 00 344, 552
k3 SS400 @32 L=3, 050mm
kg 793.10 185. 00 146, 723
A EkAR AN THEST —RREEM
k g 770. 00 65. 20 50, 204
BT MtEBZTHLUT (U L—UikE)
m 2 331.30 929. 00 307,777
a9 ) — MTHRT MtZEBATHBLUT (O L—23kE)
m3 106. 21 2,788.00 296,113
STTFL—oiL—y (HBEHEARGER) ChHERiE> J8)25tH
=] 1.33 44, 500. 00 59, 185 8H
J9R—59 L—2 (HEERER) 100t F
B 1.61 109, 476. 00 176, 256 8H
=) &t EZ8eH - 10. 001& 229, 260. 00 2,292, 605
EE:2
W o L—oHE 1Ky
% E R - BRRTE BARL 2 B %8 i &
ya0—39L—> CHEEREI=) 100t /A
= 1.00 3, 865, 440. 00 3, 865, 440
& R fEEfEH - 1.00K 3,865, 440. 00 3,865, 440
&S :3
B L—T 4 VTEEE 100m 2 &Y
4 b R - BKkTiE By 2 B {f #5 5 &
W=D 4 U TEE%
m2 100. 00 530. 00 53, 000
=) &t EZ8eH : 100.00m 2 530. 00 53, 000
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&5 4
2 HMELEESEL 100m 2 &Y
2 L R - K& BAGL H = B {f %8 5 &
MEEEZEL (FREME) JL—rkE
m2 100. 00 1, 854.00 185, 400
STTFL—riL—y BEHEARGER) ChHEM#E> J&)25tH
=] 0.30 44, 500. 00 13, 350 8H
& &t YEZHEH : 100.00m 2 1,987.00 198, 750
E5:5
2 RERE - B/N— 1RLY
2 L R - BKkTE BAGL H = B {f %8 5 &
R - m/AN— SS400 @38 L=3, 300mm
X 1.00 19, 200. 00 19, 200
& it YEEREH : 1.00K 19, 200. 00 19, 200
&5 :6
BF: REkER - m/AA—HIL 1000k g4V
% E R - BRTE By H = B %8 i &
AEkA - R/N\—#HL % 75 3 38mm~50mmkE Y L— Uik E
k g 1, 000. 00 71.40 71,400
STTFL—riL—y HBHEARER) CREmEHEY J8)25tH
=] 0.10 44, 500. 00 4, 450 8H
& it YE%HEH :1,000.00k g 75.00 75, 850
&5 .1
2 BB RIS 100m2%5Y
% E R - BRTE By H = B %8 i &
SHE R AAAT A4 (R E4E) JL—rkE
m2 100. 00 3,952.00 395, 200
STTFL—rL—y (A RGER) ChHEM#E> J8)25tH
=] 0.80 44, 500. 00 35, 600 8H
& &t YEZ8EH : 100.00m 2 4,308. 00 430, 800
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&5 .8
¥ :ary)— MTH 10m3HY
% L A - kTiE By H = B {f B = i &
LT4—2H9Rbavy)—+ 18-8-40
m 3 10. 10 8, 500. 00 85, 850
a9 1) — TR (BB EE) JL—rikE
m3 10. 00 3, 045. 00 30, 450
SI7FL—2HL—r HHEARTER) CHEfiE > J8)25tH
=] 0.20 44,500. 00 8,900 8H
& it YEXHEH : 10.00m 3 12, 520. 00 125, 200
&5 :9
B R ILERR 1X5Y
% L R - kTiE By H = B {f B = i &
ST7TL—r9L—r HHARARERR) ChHEM#E> J8) 50t A
=] 3.10 98, 800. 00 306, 280
YR IEXE
A 11.30 22,160. 00 250, 408
EREEER YSEEB DY
% 287.00 556, 688. 00 1,597, 694
= &t YEEBEH : 1.00 2,154, 382.00 2,154,382
B#5: 1
BF: BEISBREIERRE 1X5Y
2 L I - BRTiE By B E B i %8 W = 5 &
E-AYUIRE JRy EET
= 1.00 37, 400. 00 37, 400
& it YE¥REH : 1.00 37, 400. 00 37, 400
HE5:12
2 MEISESEREIMRAE X5
% L R - kTiE By H = B {f B = i &
MEISESHREIRAE
= 1.00 100, 000. 00 100, 000
& &t fEEEEH - 1.00K 100, 000. 00 100, 000




